H & 0l & AFS E Al A
20188 =04 DIEISE 2 =Rl dE X2 ot
SAM: RIS XA Dt
X-I)_:H Egjl_f‘c_}&ﬁil-gjc(;
ol HASSMBOIN KR (XIS LMB0IEISSH5|H) (Sl &)
S5
SH - B - SRI(3I) - NIRAR - BaS il &bt S HmE=
=0l EX 2t 1,504,949 1,362,769 142,180
= 157,884
o= 39,221
= 1,307,844
D | =BT 620,144 1,352,769 AT32,625
= 157,884
o= 39,221
= 423,039
NASEMSOIAR (2L HEHRIIZELSIA) 70,000 735,076 2\665,076
NS MEOHED | SAS 70,000 735,076 2665,076
207 AN 20,000 0 20,000
01 H1E4d| 20,000 0 20,000
OXrEAIY JHERIE CIRHR! JHE
20,000,000& 20,000
307 gI2+0|: 20,000 0 20,000
1 A SXIAMBEES 20,000 0 20,000
OXg &4t At 20,000,000& 20,000
501 8it= 30,000 50,000 20,000
01 2i”tsX=2 30,000 50,000 20,000
OXtg & MEHEZS Eil= 30,000,000& 30,000
NASE SXA(A2S0II=ELE3EH) 550, 144 617,693 A67,549
= 157,884
o= 39,221
= 353,039
220 AXHHBAEER(AZ A2S A EX3) 64,042 64,041 1
- 2220 22AtEHI
= 51,234
o= 12,808
101 21248| 64,042 64,041 1
= 51,234
o= 12,808
03 I HAZ2 X2+ 32,021 32,021 0
O2AZ 20 2te|AL 2124H| 32,021,000& 32,021
= 25,617
o= 6,404
04 JIRIH2Z2HEE S 32,021 32,020 1
O2AZ 20 2te|AL 2124H| 32,021,000& 32,021
= 25,617
o= 6,404
220 AXHHBAEER(AZ A2S A EX3) 21,120 17,846 3,274
- 230 BHZBH|
= 17,09
o= 4,024
201 2| 8,514 5,726 2,788
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SA:

oIS
M R0D|ZMHBE
gel: MASE SR (ASS0IISELEH) (2l &)
% - (5]
SH - B - SRI(3I) - NIRAR - BaS il &bt S HmE=
= 6,811
o= 1,703
01 A2teld| 8,514 5,726 2,788
O2AS=SHE 2l = 8,514,000 8,514
= 6,811
o= 1,703
202 Oid| 12,606 12,120 486
= 10,285
o= 2,321
01 WAL 12,606 12,120 486
O2=2s50 FF=8 0l
20,0002 +62]+221x12& 2,880
= 2,304
< 576
O2dE2=50 w=0d| 145,250 3+82]+32! 3,486
= 2,789
o= 697
O2z202te /Al SE 0|
260,000 *201x 123 6,240
= 5,192
o= 1,048
S220 AXHHBAEER(AZ A2S A EX3) 111,943 147,438 235,495
- 22380 =330l
= 89,554
o= 22,389
307 GI2+0|: 111,943 147,438 A35,495
= 89,554
o= 22,389
1 AR SXIAMBES 111,943 147,438 A35,495
O22s0 s==0l 111,943,000 111,943
= 89,554
o= 22,389
220 =K 5,280 12,951 AT ,671
101 1248| 5,280 12,951 AT ,671
03 I HAZ2 X2+ 2,640 12,951 10,311
O=g 2,640
0 g A 130,000& 1 *12& 1,560
(OME=EEN] 50,000&*12& 600
0E 40,0003 123 480
04 JIRIH2 2 EE S 2,640 0 2,640
O=g 2,640
0 Mg A 130,000& 1 *12& 1,560
(OME=EEN] 50,000&*12& 600
0S¢ 40,0003 123 480
ZZ0 AXHHBAEX(A2S0 &SH| XIA) 347,759 375,417 N27,658
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SA:

ol
A 20| ZMBDT
B9 HASS BN (S300ISSLsH) (Sl &e)
A - B S9(3) - HRAY - BES il &y b HimE=]
308 XX EHHISOIE 37,759 375,417 £27,658
07 NXISHHRIRES 347,759 375,417 N27,658
ONz=g2 347,759,002 7,759
HPES (RN 2D 10,000 10,000 0
ERENEICEENBIEEEER) 10,000 10,000 0
JIEIEES 10,000 10,000 0
802 Br&t 2| Ef 10,000 10,000 0
B YIS 10,000 10,000 0
OF4+(FB0IS3, P43, 0IX+Y S)
10,000,002 10,000
CTIEIC=PERESIEY 874,805 0 874,805
OlHIHI (U M OH | 2) (B MEors )| S SEs)H) 874,805 0 874,805
oleI| 874,805 0 874,805
801 ofilbl 874,805 0 874,805
01 BFolHIH| 874,805 0 874,805
OXtgH % MEOrSII3 OlHlbl 874,805,000 874,805
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